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1. IFA=11,2 3and B=1{1,2] and C = {4, 5, B},
then what is the number of elements in the
set AxDBRC?

{a) B
by 9
{cy 15
{d} 18

2. There are unlimited number of identical balls
of  four different  colours.  Ilow  many
arrangements of at most 6 ballz can be made
by using them ? |[to be arranged in a single
row anly]

{a)} 1385
{by 2730
{c) 5460
{d} None of the above

3. Let Z be the set of integers and ‘o' be a binary
operation of Z defined by acb=2a + b -ab
for all a, b ¢ X What is the inverse of an
element a (2 11e &7
fa) afta- 1)

(b afil — a)

(e} (a-1)a

{d! None of the above
4, i 765 Sl SV, 0, then what is the value of

5 K

Z [H" _‘___!__J v,

n=1 x"

fa) 8

(hy 10

(e} 12

id)  None of the above
P-TSB-M-NND

(2-A)

If n 1s the positive integer zuch that

[] + & ¥ ‘,|{2:In = au 4 H‘]x 4 ﬂz.'*:z g ngnxﬁr:r
Zn
Lthen what is the value of Z a ?
:
r=40 E
{a) O
{h} 311+I
¢y 31!
(d)y 3"

If (x+ 1) (x+ 2) {x + 3) {x + 6) = 3x°, then
the equation has

{a) all imaginary roots
{h} all real roots
{c;  Lwo rational and two irrational roots

{d} two imaginary and two irrational roots

If #e :i::, where | = ,_.f'—_l, then what is
the value of 2 ; 2
K4
() i
{by 0
fey 1
(d) ~—i

If fix), gix) and hix) are three polynomials of

Ifix)  wlx)  hix)
degree 2 and Alx) = ["x)  g'ix) Wix)
Fxy  g"(x) h"(x)

then Alx} iz a peolynomial of degree (dashes
denote the difTerentiation)

fa) 2
b 3
fer 0

(dl  ar most 3



9, If a, B are the roots of £ & px —-gq =0 and
y, & are the roots of x% — px + q =0, then
what is (B} + ) (J} + &) equal to ?

{fa) 0

bt p+q
el 2q
dl p-g

10. The graph of the quadratie polynomial
fix) ={x —ad{x=h)wherea, b>0anda=b,
then the graph does not pass through
fad  first guadrant
ib)  second gquadrant
{ey  third guadrant
(d} fourth quadrant

11. There are two sequences whose nth term is
riven by
1. a =un_ +a_,wheren > 2 with

£ n-| n-2
a,=1a,= 2.
2. a =2 . witha, =2, wheren> 1.
n n=1 1
Which one of the following is correet in
respect of the above 7
{a) 1 and 2 are both APs
{b] 1 onlyisin AP
ey 2onlyisin AP
idy  Neither 1 nor 2 is in AP
P-TSB-N-NND |3

12,

13.

14.

- A

roal
n real

The product
numberzs is 1.
numhoers

of n positive different
The sum of these

(al  must be an integer

(bt less than n
el nin+ 1)
id)  never less than n

What i the sum of the inflinite serics

2% 9 3Zx9* 4x9 ,
+ + - 4.

1 : : i
10 10 10°

iz 10

(hi 100

ted  1/100

ity Does nol exisl

If A is @ non-singular square matrix sach
that A% — A + 1 =0, then what is A ' equal
to ? (1 is identity maotrix of same order as A)

fa) 1

thy 1+ A
() A?
dy 1-=A

A group of order 6 has an element of vrder

(al 2
{by A
fcih 5
(dy 7



16. Consider the [ollowing stalementis in respect
of the relation between two integers m and n
as m is related to n if {m — n} is divisible by 5.
I. The relation is an equivalence relation.
I1. The eollection of integers related to 1 and
the collection of integers related {o 2 are
disjoint.
Which of the above statements isfare correct !
(a¥ T only
(hy 11 only
ter Both I and 11
{d} Neither 1 nor 11
17. The value .}“F p, for which the guadratic
equation x~ — dpx + 4p(p — 1} = 0 possesses
roots of opposite sign, lies in
{a} (0,1}
(h) f(—es 0)
(e) (1, 4)
(d) (1, ea}
18. Let U be the set of 4-digit numbers that can
be formed with the digits 2, 3, 6, 7, 8, 9, cach
digit being used only once in each number
and V be the set of 4-digit pumbers that can
be formed with the digits 9, B, 7, 1, 4, 5, each
digit being used only once in cach number.
Consider the following in respect of the
above ;
1.  The number of elements of
U UV =n' - 280 for some positive
integer n.

2 The number of elements of
U+ 280 = mzflﬂl for some positive
integer m.

Which  of the above stalements is/are

correct 7

{a) 1 only

{b) 2 only

(e} Both 1 and 2

(d) Neither 1 nor 2

P-TSB-M-NND

18.

20.

22,

{4-A)

A five-digiy number divisible by 3 is to be
formed using the numerals 0, 1, 2, 3, 4 and 5
without repetition. The tolal number of ways
in which this can be done is

(a) 216
(h) 240
{c) 600
(dy 8125
The wvalue(s) of Alreal or complex) for
which the following system of  lincar

equations (A — cos () x — (sin 0) y = 0 and
(sin ) x + (A = cos 0} y = 0 admits a selution
such that at least one of x, y is different from
zOTO isfare

(a) cos O %isin0
(b) cos 20 + i sin 20
(e} 0

(d) 1

where { = J-_i

let A and B be two 3 x 3 matrices whose
determinants are 2 and 4 respectively. What
15 the value of det(adj(AB)) ?

fa

(b) 8
{c) 64
(d) 512

Let A be a 3 x 3 matrix such that TR T B
et B be another

determinant is 3, What is the determinant of
the matrix hTB‘qﬂ ?

3 % A matrix whose

(a) 3
ib} 6
(c) 9
(d)y 2%



23. Which one of the f'ullowing is correct ?
a) 6cos20° -8 cos® 20° - 1=0
(b} Bsin® 10°—6sin10°+1=0
(¢} Bcos20° —6cos®20°+1=0
(d} 6sin”30° 8sinl0°+1=0
24, If =x = cos 15° then which one of the
following is correct 7
{a) 4x°-924+ 48 =0
th) 8x" —6x++2 =0
(e) 8x° +6x—+2 =0
(d 16x* — 16 4+ 1=0
25. Ifcos o+ f) = 0, then what 15 cosec(rn — B)
equal to ?
fab  cos 20
bt sec 20 only
el — sec 2f only
(d} £ sec 2p
26. A triangle of area 14 square units has two
sides of lengths 7 units and 12 units. What is
the angle between the two sides ?
3
(a} sec’’ [gﬁ
{2
(b} sin’ [—]
s a
(¢) tan™! (E\E)
(d)  cosec ! (2)

27, If cot® x + cosec x —a = 0 has at least one
solution, then the complete set of values of a
belongs to
(al [—1, =)
by (-3, -2]
el (=2, -1}

id)  None of the above
P-TSB-M-NND

29.

30.

{6-A)

If tan o =

1+ ,/1+5in28 T
—————, where' 0 < B < —,
1-,1-35in20 4

then what is the value of @ 7

(a) n 8
T 2
® 0
4 2
e}y m+8

id) None of the above

Consider the following statements :

1 For any real number 0, sin® 0 + cos® 8 < 1.

2. If x and y are non-zero real numbers such
that x2 + y2 = 1, thenx* < 1/2 and y* < 1/2

Which of the
correct ?

above satatements iz/are

fa) 1 only

(b) 2 only

fct Both 1and 2
(d) Neither 1 nor 2

Let 0 < 0 < 90° be such that tan 6 = V2.
Consider the following statements :

1. There exist aistinct integers x, vy, z such

that.seczﬂ-—-x2+y2+zz—xy—yznzx.

2. It is impossible to find integers
X, v, eix 2y, v#z 2z x) such that
‘tan” 0 = x° + _1,'3 - dxyz,
Which of the
correct 7

ahove statements 18fare

fa) 1 only
(b)) 2 only

(e} Both 1 and 2

(d) Neither 1 nor 2



31. Suppose the fipare ‘A’ is obtained by joining
the points (2, 2), (6, 5), (10, 2), The horizontal
line segment has end points (3, 4} and (x, v).
Which one of the following 1s correct ?
fa) x=Tandy=4
(bYy x=3andy=4
(o) x =9 and ¥y = 4
d} x=6andy=4

32. What is the angle made by the tangent to the

. 1 .

parabola yz = 4x at the point [E’ 1] with the
y-axis 7
(a), tan ' 2
(hy 45"
(e} cot’' 2
(d) B0°

33. What is the area of the triangle formed by
the lines E—izl, X _Y -1 and the

3 2 4 B

x-axis 7
(a) 1/8 sguare units
(b} 1/4 sgquare units
(e} 1/5 square units
(d)  3/5 square unils

P-TSB-N-NND

34.

35.

36.

37,

{6-A)

A region in the xy-plane is bounded by the
curve y = 1}25-—::2 and the line y = 0. If the

point (a, a + 1) lies in the interior of the
region, then

fa) aes (-5 -3
(b) ae (—e, —1) U (3, )
{c) ae (3 5)

idl ae= (-1, 3}

If one of the lines given by Bx? — Xy + 4::3;2 =10
i3 2x -3y =0, then what is the value of ¢ ?

{a) 1
(b) -1
(e} 3
(d) -3

If the circles x° + }rﬂ +4x + k=0 and
x* 4 _',rz + 4y + k = 0 touch each other,
then what is the value of k 7

{a) 1
(b} 2
(c) 4
(d) 18

If the point (2, k) is at unit distance from the
line 3x — 4y + 1 = 0, then the values of k
are

(a) 1/2 or 3
(b) 1 or1/2
e} 1,-1
idy 0,1



38. Al the point (0, 7/8), the line joining (2, 1)
and (- 4, a} is trisceted, What is the value of
‘a’ ?
{(a)  13/18
(bl 5/16
(e} 13/8
fd) None of the above
39, What is the argument of — J3 —{ ?
fa)  30°
(by 150®
e} 210°
(d)  240°
40.  [f two straight lines x cos o + y sin o = 1
ang x sin 3+ y cos i = 1 are perpendicular,
then which one of the following statements
follows logically 7
fa) a=p
th} o - B = 90° only
@) |o-p|=90°
(d}  None of the above
41. Let X be a set of real numbers for which the
function fix) =sin(x —ix]), x e R is
continuous, Then X is equal to
{a) R-7
{by 2
icl R
{d} None of the above
where R is the set of all real numbers and Z
12 the setl of all integers,
Here |x] represents greatest integer function|
P-TSB-N-NND

42,

43.

44,

4.

(7-A)

The function fix) = x (1 — x) defined on (0, 1)

{a}) has a minimum value of 1/4
{b)  has a maximum value of 1/2
(e} has a maximum value of 1/4
fd)  has neither maximum nor minimum

$¥ g8
The equation sec 6 = lim gt I
y—ooux Jxy® + Jyw©
valid if
(a) o is a negative integer
(b} =05
{E:' = ]
(d) @=2
For0<|x|< T the value of 1- 52X
2 X
tal strictly positive

(b)  strictly negutive
icl  non-negative

dy 0

If 27a + 9b + 3c + d = 0, then the equation
dax® + Hhx2 + 2cx + d = 0 has at least one

real root lying between

{a}) ~1land 0

fb) O and 3

(e} -3 and -1

{d}  None of the above



16,

47.

48.

49,

P-TSB-N-NND

If the surface area of a spherical balloon is
increasing at the rate of 16 square cm per
second when the radius is 40 cm, at what
rate  is  the wvolume inereasing at that

mument ?
{a] 420 cubic em per second
b} 160 cubic em per second
el

i)

150 cubic em per second

120 cubic em per second

What is the degree of the differential
2

_g — }I‘z_ulr}_f ?

X

ecguation

1al I
by ¥
o
idr 4
of the differential

The pgeneral  solution

dy (d E o
egquation y :{ :’J] x+ 1is Ay - A'x =1,
dx \dx

where A is the arbitrary constant {A = 0}
Which one of the following solutions of the
given differential equalion is not a particular
solution of the equation ?

fal
(b

y—dx =1
Jy —Ox =1

el v+ 2x=10

{d} }r:.a = dy

What is the solution of the differential
eqgualion dx S 5 , Y
dx Zv[sinj.r" + msy'z) — X

]

2 ' 2
Xy + cogy — siny =¢

ihi =y + ooz 2y =¢
Xy -~_‘|.";'E =L
d) Ay =c¢

where ¢ is an arbitrary constant.

50.

al.

52.

A

After eliminating the arbitrary constant a
from ¥ = cos(x + ) + 33 sinix + w) to gel a
differentinl equation of minimum order as

dy
fad v -3— =1
al oy i
dy
b1 3 =0
S ,
A
: tv
i SFERg B = 4
" g [dx]
2
t.d:' }2 + d‘ ] = I}
dx
1 i
x-i’
What :i.:aj L TRy dx equal to ?
. Sl 2|x| +1
(al inm 2
by 210n 2
{cd 1
(dy O

)
T {

What is j Wik ., dx equal to ?
1 Jn[x—x“}l
]

fab 1/4

(b 1/6

(e} 1/18

dy  1/54

What is the derivative of log | Tl

fal 2x
() ¢
e} 1
id} Ze




54.

Let fix) be a polynomial of degree three
gatisfying fl0} = — 1 and f{1) = 0. Also ‘0’ is a
stationary peoint of fix) but fix) has no

f

extremum value at x = 0. What is j ;x} ix
x0 =1

equal to ?

(a} (x%2) + ¢

(b} x+¢

a

{cy /3 +c

{d}  None of the ahove

where ¢ 18 the constant of integration.

DMrections ! For the next o (02) questions thot

follow !

N . X
Given fix) =sin x + cos x and g(x) = U
X

for

x =0 and gl0) = 2.

3=
=
55. Whar is J gofix) dx  equal Lo ?
{fal 0
n
by ~
4
dn
e} —
. 4
{d} = i
1
56. What is Jgﬂﬁx] dx equal to ?
dn
4
{a) O
n
b --
4
Jn
]. — —
{e 2
{d) —-=
P-TSB-N-NND

Direcfions : For the next two (02) questions thai

58,

follow :
1-|x], |x]=1
Let {ix} = and

0, |x|>1
gl =Mix - 11+ fix + 1) for all x & K.

0
What is J' gix) dx  equal to ?
{a) 0 -3
{b} 1
fc) &
{d) Nuncaﬂf the above
What is J gix) dx equal to ?
tal 0O o
thy 1
gy 2
idt  None of the above

Directions : For the next two (02) quesiions that

o8,

6.

(9 - A)

follow :

Let the area enclosed by the curve
yo=1~ x* and ahove the line y = a, where
0 € a < 1, be repregented by Afa)

Al:
What is —{ﬂ equal 1o ?
A(0)
1
ta)] =({1+2a)jl-a
2
® safi-a

(e} %{2+a}.~.‘l -

(d} None of the above

AlDY ;
— =k, then which one of the
Al1/2)
following is correct ?
fa) k=0

by 0O=k<05h
e} DAH<k<l
id) None of the ahove



xg' xedh
61. Let fix) = here Z is th
et fix) k(xg - 4) where Z is the
. xXgd
2-x
set of all integers. Then flx) is continuous for
fa) k=1 only
{b} every real k
(e every real k except k = —1
(d) k= -1 only
62. What is the area enclosed by the curve
yi=-x|x| and x=-17
fa) 1/2 square units
i) 1 square unit
fe) 2 sguare units
id) None of the above
52 a & x g
% e’ dx
63. 1f L = | == and I =_[
i Inx 2 X
e 1
then which one of the following is correct ¥
fa) EII = Iz
by 1, =2l
el ]l = 12
{d]‘ l] = g I_IZ
4
’
64. If I = J‘ tan” x dx, then L, + 1, IB + ]ﬁ,
0
I=1 + I, .. are in
(a) AP
(bl GP
ey HP
{d) None of the above
P-TSB-N-NND

Directions : For the next two (02) questions that

Bi.

| 10 - A )

follow -

Let fix) = En: ay |x — 1 |k where a, € R
k=0

Consider the ollowing stalements :

1 [ix1 is a vontinuous Function for all

ach.

i fix) is a differentiable function for all
&, € R

Which of the statements given ahove isfare
correct ?

fa) 1 only
(b} 2 only
{c; Both1and2

(d)y Neither 1 nor 2

Consider the following statements :

1. fix) iz continuous at x = 1 provided
A=
2. fix) is differcntiable at x = 1 provided
a =0
Ik + 1

Which of the statemenls given above isfare
correct 7

{a} 1 only
by 2 only
{c) Both1and2

id) Neither 1 nor 2




67,

in
3 .
) COS X .5

What 1= j PR REMEE e

|cos x|

an

4

42 -1

al
J2

i
(b i¥ve
2
. |
] e i
e 3
id) None of the above

Directions : For the next twao (02) questions that

f9.

P-TSB-N-NND

follow

Constder the function fix) = |x* = 2| on the
interval - 3 < x < 3.

Consider the following statements : 7l
1. The function attains relative minimum
at only one point.,
2. The function attains relative maximum
at only one point.
Which of the above statements is/are correct 7
ial 1 only
{b} 2 only
(¢) Both 1 and 2 o
(d) Neither 1 nor 2
Consider the following statements .
1. The absolute maximum wvalue of the
function is 2.
2,  The absolute minimum value of the
funection 15 0.
Which of the above statements is/are correct ?
tar 1 only
bt 2 only
{fe} Both 1 and 2
{d} Neither 1 nor 2
{11 -A)

70.

Tf |x] denotes the greatest integer less than or
cqual to x, then what is
[x}+[2x]+(3x]+...Inx] equal to ?

Tim

1 —s oo 1—.2
la}

by x/2

(et =3

(dv 0

Directions : For the next two (02) questions that

follow :

A line L is perpendicular 1o the lines having
dircetion ratios €3, 2, 1) and {1, 2, 3).

What iz the sum of the direction cosines of
the line 1.7

{a} ©
(b1 1
fe) 3
{d) None of the above

Consider the following statements :

1. The sum of the direction ratios of the
line L. is equal to sum of the direction
cosines of the line L.

2. The angle made by the line L with the
y-axis is twice the angle made by the
line L with the x-axis.

Which of the statements given above is/are
correct ?

{a) 1 only

{b) 2 only

ic) Both1and 2
(d} MNeither 1 nor 2



Directions : For the next three (03) guestions that
fallow .
Consider the plane containing the line

2+ 2
=t and passing through

i+l y¥-3
-3 2

the point (1, -1, D),

73. What are the direction ratios of the normal to
the plane ?
{a} €1,1 1>
(B} {1,=1, 1)
(e} (3,2 1)
{d} None of the above
74, What is the angle made by the plane with the
x-axis 7
{a} tan”? V2
(b} ot V2
m
ey =
“ %8
{d} None of the above
75. What is the equation of the plane ?
{fa) x+y~z=0
(b} -3x+2y-z+6=0
fc) x+y+z=0
(d} None of the above
P-TSB-N-NMND {12

76.

7.

The equation of the plane which equa}i}'l
separates the planes 2x — 2y +z + 3 = 0, |
4x -4y + 22+ 5=0 is |

al Bx—Hyv+4z+ 13 =10
(h) 8x -8y +42+11=0
el Bx—0Gyv+3z+8=10
d) Bx+6y+3z+8=10

The three planes 2x + 3y — z = 2,
dx+d3y+z2=4, -y + 22 =5 intersect

la) at a point

(b) in a line

lc) at three points

(d) None of the ahove

Directions : For the next two (02) questions that

follow .

Consider the straight lines X FE =~ and

a r

78.

79.

Al

x=y—-1=2

The lines will be perpendicular as well as
coplanar if

{a) a=b=c¢c

(bh) =2a=b=-2¢

{e) 2a=2b=c

(dl a=-2b=-2¢

The direction cosines of the line ~ = & = £
a b ¢

{under the condition given in the previous
guestion) are

. (L 2 1)
AN

'L..]

1 =2 1\

(h) K = e s
\v6' V8 ' v6/
-1 2 1

{-:I B B it

: <J?§ J6 \;5,}

{d) None of the above



Directions : For the next two (02) questions that

follow ;
i & eI iy 4
The vectors xi + j + k, i + y3 + k and
” A A

i + j + 2k are coplanar where x 21, y = 1,
AR

B0.  What 1s the value of 1 + 1 + 1 ?
1-=x l-v l1-2
ta) 0
(hy -1
e 3
(dr 1
81. What is the value of xyz —x -y -z 7
tat 0O
by 1
{c) 2
dy =2
R2, a’. i:::', ¢ are three non-collinear vectors such
= P ST — . —+
that a + b is parallel to ¢ and a + ¢ is
parallel to b. Then which one of the
following is correct ?
- ] el
fal a +b =2¢
b l:-; + ? = :
e oA + T =b
(el ;, E., T taken in order form the sides
of a triangle
F-TSB-MN-NMND

B3.

84.

{13 -A)

Directions : For the next two (02) questions that

follow :

o e .
a, b, ¢ arethree unit veclors such that

—¥

— — =3 —
a xf{b » ¢} = where b and ¢  are

=1R-g

non-parallel.

What angle does a make with b ?

(a} %
(b) E
(c) E
(d) %

What angle does a make with ¢ 7

(a) %
(b) %
(c) ;
(d) %



85. Ifa and ¢ are perpendicular vectors, then
fur any vector b the vectors a = (b x <)
and (& x i;ll x ¢ are
fa) perpendicular
(b) parallel
el each equal Lo zero vector

. i - —3
{d] parallel respectively to a and ¢

86. Standard deviation is independent of
{a} change of scale and origin
{b} change of scale but not origin
{c) change of origin but nol scale
{d) neither change of scale nor origin

87. X and Y are two related variables. The two
regresgion equations are given by
22—y —-20=0 and 2y -x+4 =10,

If o 1/4, then what is o equal to ?
lay 1
(b} 1/2
ey 1/4
idy 4
P-TSB-M-NND

BB.

89,

90.

[ 14 - A}

The price of petrol per litre during the four
guarters (each guarter censists of three
months) of a year is T w, T x, Ty and T 2
respectively. A person spends T 200 per
month on petrol every month, The average
price at which he purchases petrol during the
year, In rupecs, 1s

WHX+Y+2
4

(a}

‘|w+x+l}r+z
S I
w OX Yy z
{e) dwxyz

{d} dwxvz 5

WXY + xyz4 yiw 4 2wy

(b}

Following table summarizes the mean and
standard deviation of rainfall in threc
stations A, B and C observed over a period of
one month :

Station AlB|C
Mean rainfall in mm 32 | 18 ) 44
Standard deviation 6 5|10

In which station/stations iz the rainfall

consistent ?

fa) A
(hy B
) C

(d) A aswell as B

The average weight of 9 men is x kg, After
another man joins the group, the average
increases by 5%. Still another man joins and
average returns to the old level of x kg
Which one of the following is true ?

fa) The 10t and 11t men weigh Lhe same.

(b) The 10° man weighs half as much as
the 11" man.

(¢} The 10" man weighs twice as much as
the 11*" man,

idl  None of the ahove



91. A point is selected at random frem the
interior of a circle. The prohability that the
point is closer {o the centre than the
boundary of the circle is
(a) 8/4
(b} 1/2
(e} 1/4
@ 1/8

92, If the letters of the word 'ATTEMPT are
written down at randem, the probabihity that
all the T's are consecutive is
{a) 1/42
(by &/7
(e} /7
(dy 2/7

93. A football mateh is played from 4 pm to 6 pm.
A boy arrives to see the match (not before the
mateh starts), The probability that he will
miss the only goal of the match which takes
place at the 15" minute of the match is
equal to
(a) 3/4
(b) 1/4
() 7/8
id) 1/8

P-TSB-N-NND

95.

{15 - A}

Consider the sample space S = (1, 2, 3, ...} of
the experiment of tossing a coin until a head
appears. Let n denote the number of times

the coin 1s tossed. A probability space is
obtained by setting p(1) = 1/2, p(2) = 1/4,
kb T L

If an event is defined as A = {n is even}, then

what is p(A) equal to ?

(a} 2/3
hy  2/9
e} 1/3
(d) 1/9

If the sum of mean and variance of a
Binomial distribution 1s 48 for five trials,

then the distribution is
I
(a) [1 + E]
3 3

(h)

(d} None of the above



97.

P-TSB-N-NND

Nine numbers are successively drawn from
the set 11, 2, 3, 4, 5, 6, 7, 8, 9, 10} replacing
the number drawn every time before the next
draw. Let X denote the number of 1's in the
9 draws and p,_ be the probability that
X=r(r=0,1,23, .. 9

Consider the following statements ;

L py=py

2. p, =09’

Which of the above statements is/are
correct 7

{a) 1 only

(b} 2 only

{e} Both 1 and 2

{d} Neither 1 nor 2

A fair coin is tossed a fixed number of times.
If the probability of getting seven heads is
equal to that of getting nine heads, then the
probability of getting two heads is

(a)

(b)

{c)

(d)

98.

99.

100.

{16 — A}

In a certain college, 25% of the students
failed Mathematics, 15% failed Chemistry
and 10% failed both Mathematics and
Chemistry. A student 1s selected at random.
If the student failed Chemistry, whatl is the
probability  that  the student [ailed
Mathematics also ?

(a) 2/9
(b) 2/3
(¢) 1/3
(dy 1/9

From a group of 10 persons consisting of
5 lawyers, 4 doctors and 2 engineers, four
persons are sclected at The
probahility that the selection contains at
least one of each calegory i3

random.

fad  1/2
(b 1/3
(e} 2/3
(d)

2/9

In a lot ol screws, HH% are produced by
machine A and thc rest by machine B.
Machine A produces 2% defective screws and
machine B produces 3% defective screws.
The probability that a defective
randomly found from the lot is manufactured
by machine B is

SCTrew

(a) 3/5

(b} 29/51
(e} 14/25
(d) 27/49
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